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Question 1

QO gm 2obdo®mEgds: 9E9dBOMLESG03IM0 390 9hHmgds 39w, OMmdgmois ----- .
Select one:

a. 99936oeos AMs30 JIIEGXIO drgbEHom

b. 56lgdmdl gengddGrmo @gbol 3s6dgdn

C. 56gdMBL 353500 olstols gstdgdm

d. 899496005 3mAGs30 gangd@®wyeo dmbEom

Question 2

3980500305 ®9) 33oM0: "0BMmomgdME LoLEYBs30 FbEWM®Oo Bofoeszgdo
§o68m0ddbgds Fyzow-{iy30ws LoEoom GHMwo s LsdoMoldo®mm Bodbol dxmb@gdom,
36 Mo LsdoMobdomm bodbols dmb@Ho 0di3939 bgo@®ow e bsfowmszs olg, ™I
LobBYdoL LEEo FMbEHO oG 033w gds. "

Select one:
True

False

Question 3
3999150509 LOAdMWMYGdO s LOWOYIO0 JOMTbIDL -

N Answer 1| Cose- -~
B Answer 2| oose- -]
q Answer 3| hoose- =l
© Answer 4/ Cnoose-- -~
Question 4

QLM obFsMFHGds: 9ergdBHHIO 39e0 AMOIROIMESQ odmolobgds ---

Select one:
a. 3mb3gbdH®Mwo foMgdom
b. 390l fodgdom

C. 99d@H®0o 390l sdsdYemdol dserfio®gdom
d. 3s®semgemeo fodgdom

Question 5

399505890 dMm399ME B0HB03ME LOOEIIOL Fom0 GMHGMYdO:


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=N
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20E
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=q
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvarphi
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909 GHOM@O > Answer 1‘ Choose...  v|
9 9dHOIO 9ol ©sAsdIWMdS Answer 2| o0 7]
99dGHOMo dMbEHo Answer 3\ Choose... j
303)9b30swms bbgsmds Answer 4| coose.. |
Question 6

39979L5059900 9OMTsbgPL FoBLEBMZIMYd9dO:

80b0ogm®o dmgwgbs Answer 1| Choose... |
B0D0371M0 LOEYOEOL JOMIMNWO Answer 2| Choose... j
259%Bmdo bywbsfym Answer 3| Choose... |
B0D03MOO0 LOWOEY Answer 4| Choose... |
Question 7

999 GO ©03Mmeo 9Himgds LoliGgdsl, GmIgwoE 99wygds:
Select one:

a. 9mH»bsoMo 60dbols Imbg mMo dMbEolysb

b. Ubgoslbgs Loowol 3dmbg m®o dmbE oLyt

C. LOOEOM BHMO s bbgsslbgs oAbl AJmbg Mo FmbEHOLYH

d. LEOEOM FHMWO s JMHMBI0MO 60IBOL dJmby MO FwgbEHolgsd

Question 8
3900560305 0099 30500 FMbEHOL, HMIGd0E 9OMA35OM3560 WO ergdEHMo30L
B9053060DY [om3M0gdbgds 30smOBs30ol ML, ddwwo dMbEHoo gfimgds.

Select one:
True

False

Question 9
39991505090 9OHNTSbYNU:

993dHOMEGHI390MdS Answer 1| Choose... j
BSOSO Answer 2| Choose... j
3mGHYGHO0 Answer 3| Choose... j
Question 10

@3LOMEgm 35685OEds: 396abmEMgdMwo (396350 39390w0) 353EHIMOL

99dGHOMGHI390M0S HOEHMOM035© YOOV 99BN IMbEOL 03 MHIMEOIbMOSL,
Mmdgwo3 Mbs 803560FMmm 459BHsOL, GMmd dobo ----- .

Select one:
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a. 3m39b305wo J90339ML JOHMO JOMIMLOM
b. ©53d53@®mds o0BoMEMUL

C. 969605 990(335¢ML JMHO JOHMYMOD

d. ©535d99eMds 993009

Question 11
©9bols doews 9fimgds 30HB03MO LooEIL, MMIgEoE COEbMdMO35© EHMEos -----
39300 99JBHOMO0L MH5MEI6MBOL.

Select one:

a. 359@sMmobL 25603339330

b. §®9do

C. ©OHMoL gMmgedo gsdEHscmol 35603339080
d. §6gwol 495630

Question 12

MH™390 3MbEHo Bofiows3zgdol JodsMmen dmdGsmdsl [omdmoygbl gargd@EH®vyeo
960 wommbgddo:

Select one:

a. 99gd@®mbgdols

b. ©s©7d0m0 0mbYdOL
C. 3Om@Mbydol

d. 1564mzomo 0mbydol

Question 13
99dGHOM 99603580 ©gbol 3dsmdol (969M00L) 9gMmgMEe© JoMgIME0s
30M353L5500 (33AL™). 1 333G GHMEos:

Select one:
2.3,6-10%
b. 3,6-10%
c.3,6-10°,
d. 3.0
Question 14

53O gm 3o6ToMBHIVs: 1 3Mwmbo 9GOl FMbEOL ol MomEIbmds, HGMIGEoE Ol
23593oM0obL 4sb033390mdo ----- .

Select one:

a. 96 o080 2 533900 6ol ML


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=3%2C6%5Ccdot10%5E3
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=3%2C6%5Ccdot10%5E9
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=3%2C6%5Ccdot10%5E6
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=3%2C6
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b. 96 {5380
C. 96 {joddo gm0 5339M0 ©Ibol MM
d. 9®m0 993960 960l MMl

Question 15
3536030 39e0b {gsOMl FomamMsagbl (dmbodbgm 3 3sbvbo):

Select one or more:

a. g@JOOMLHIHOINOO 9o
b. g3ws@o grgddOawo ggwo
C. ©9bosbo 458@sM0

d. 8md®s30 dMbEo

€. 1dMs30 MbGHO

Question 16
3900560305 099 I300500: 35360@MOO dsefodo gfimqds oMb, GmIwwol ymgge

faoBowdo ogergdrer dbgdl 533l 53 fadBowdo gwgddOYwo 39eol ©adadyyemdob
9095Mm0)0gds.

Select one:
True

False

Question 17
3536030 390 3mgdggdl (dmbodbgo 3 3sbbo):

Select one or more:
a. vdcmsg IMbEGHBY

b. ©96056 299 >OBy
C. 953b0¢¥6 oLt by
d. 8mdcsg by
Question 18

3900560305 00¥) 30500 mEO9B30L dogrols dmddgEgdom 56 033gds LoBds®ols
OO, 033w9ds FbMWMmE Jolo F0TsOMIENGdS, SFoFEHMI WMOIbEOL dogws

0o60m5096L 39bGHMOL3YBME dogmsl.
Select one:
True

False
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Question 19
393609 3m6@"OTo 06300l 93 ool Ho®dmBmdsL 306GVl QsdFmeo ------

330 gd0L 893 JIdEHOMIoxabod ™o 0bwydsool dmgargbs gficmmgds,
0o60mIMdo ©gbl 30 0bmdzom®o wgbo.

Select one:
a. 9@dHONO 6535@0b
b. 3sgboBHm®o dsewols

C. 35360@wmH0 0600l bs35000L

d. 9gddOOEo ool

Question 20
OM3ge0d gOmgeos ( S1 ) LogMMMGOLM LobBHGdsdo 0bvyI30MGMBOL JOMYMEO:

Select one:
a. 39660

b. &gbews
C. mdo

d. gme@o

Question 21
(332050 ©gB0L §M9d0 3H9d6039G0 Lobdomg ¥ = 3 396El. Gl ML W FHomwo
LobdoMy:

Select one:

a. 250 3960
b. 200 39mgo
C. 314 3g6go
d. 300 3960

Question 22
QMg 2obToMEgds:

3390 ©9bo 9hm®gds ©9blL, MmIwol ----- .
Select one:

a. dbmemo 303560 gds 033W90S

b. LooY S F0>MMYEGS 5 OGZEIDS

C. dbmwmo LoWOEY O(33wYOS

d. LoEOEY WS FOFSODMIGDS 39OHOMPYIESD OGFZELJDS


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=SI
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cnu%3D50
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Comega
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Question 23

90mbs06 60dbosbo gegd@BHMmeo dmb@gdol gargdBHO™mUESGH03MM0 MYOHM0gHMNIIgJool
doy:

Select one:
a.iﬁ:DD
b. F >0
. F =<0
. F=0

Question 24
3999L5059900 B0H0IMMHO LOWOYIOOL 4oFMLIMZEGE BMEOTMEGEL ILObYGdgdO !

A= Q‘(Lpl - @?)Answer 1| Choose... j
P = Treor Answer 2| choose- -

E = —grady  Answer 3 oese- El

Question 25
mdob 396mbols bbgoalbgs Lobom {o®dm®aqbow gm®mIMEgdl J9Lsdsdgom

Lobgenfmqdgdo:

U -
I'=% Answer 1| wose- E
j = 0E Answer 2| hoose- E

P - -
I' = 5 Answer 3| Ooose- E
Question 26

G390 GmMINEom 353M0M3gds 060300 Fobsmmds (W -sG0b 33es©o @9bol
Lobdoty):

Select one:
a. Ry %
b. RL =wl
C. Ry = 5
d RL = L:JEL
Question 27

B5393H0w0 B9gs3060L dogaboo Immogligdwo FgdEowmgzsbo dmbEol
Lboogs 1.10° 3. 9e9dBHOHo 390l 653500L Lo F50BsMs M-%9O,
MOME5 Bs30600L Joabom dmomogligl 300093 MmMo 3MbE0, MHMIGELmS
1009005 30.10-93 s -2.10-23. gsblEBEOZMgm M - ol 3603369 Mds s
B9 dmboigdms 39ewdo (8sg.1,234)

Answer:|


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20F%3D%20%5Cinfty
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20F%20%5Csucc%200
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20F%20%5Cprec%200
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20F%3D%200
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A%3Dq%28%5Cvarphi_1-%5Cvarphi_2%29
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvarphi%3D%5Cfrac%7Bq%7D%7B4%5Cpi%5Cvarepsilon_0%20r%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7BE%7D%3D-grad%5Cvarphi
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=I%3D%5Cfrac%7BU%7D%7BR%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20j%3D%5Csigma%20%5Cvec%20E
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=I%3D%5Cfrac%7B%5Cepsilon%7D%7BR%2Br%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Comega
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=R_L%3D%5Cfrac%7B%5Comega%7D%7BL%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=R_L%3D%5Comega%20L
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=R_L%3D%5Cfrac%7BL%7D%7B%5Comega%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=R_L%3D%5Comega%5E2%20L
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Ccdot
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Ccdot
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Ccdot

Question 28

R=170 mdo §obsexmdol bsomMs 3990m:m9gd)eos ©gbol fys®mbiorsh, ®madwols
9.9.9. Mol 220 gm@l, dos [oboswmds 3o r=2mdL. 03mggm §Hgodo
250535¢00 6ol dsems. (39edo RsfigMgom dbmeme Mogbgo 395L9oL
LobMLEHOM. op:1.23)

Answer:|

Question 29

35MM3Mobs Bo@bm, MmIwol 33909005 5 . s 8 LA, ImMaglgdmEos 6.8
A9bs 06300l Bsabo@de 39w do. Bs®BmTo 535350 ©9gbol Loogs
5.5 5339M0. BsOBML LOdMEYY FoaboEMO 390l 35MOgEMMOs. MOl GO
Bo®BMby dmgddgo dserol dmdgbEol Loowy (39wdo Rsfadgm Fbmeme
GoEbzo 3950090l LobMLEGHom. doy. 1.234).

Answer:|

Question 30

30260&M® 39¢d0 dMmmagLgdyer 20 LI LogMAol AsIEHIOBY, GMIgEToi FoOL
4 533960 ©9bo Imddggdl 1.4 6 doews. Mol MmOl dopabodwm®mo 3gwols
0600993057 (0960560 3580 B5360EMMO 06300l 39dEHMGOL oMM
LodMEYA0s) (39w 8o Bfgdgm Fbmemo Gosbgo 895890l LoBMLE M, Toy:
1.23).

Answer:|

Question 31

Mol MOOMOL 3MFOL 13000060 J300L §.8.0- SBBMWYEHMMHO LOOY, PO
30356 060019d30990Mdss 8 39660, beagom 3mFsdo ©gbol 33er0gdol Lobdstg
(dI/dt) ; 4 o/§0 ( 3980 Bofigmgom dbmerm© Gogbzo, doy: 1.23).

Answer:|

Question 32
5.1 m30 m31M0 §0bs0mdOL godEsMdo, GmIgedog LobMLMOMOHO 33esO

@960 go0l, ©gbol s33coEMEHO 360d36gwMds 2 5339M0s. oblsBOZMgM
50 29935M30 5.0 fmmbo 53myma3omo Moo gbgmyos. ( 3gedo Rsfig®gom
dbmemo Mogbgo 355090l LobLGHom. oy 1.2 ).

Answer:|



Question 33

2950mmM35¢gm LoAAWS3Y 33O 6oL fMgIo (§MH9gdo BsGMMEOs
AbmEwmE MINOHO Fobowmds), 0w ©Ibol s33woE MmO 360836gcmdss 10.
583960, bmgrm dsd30L 5. 3m@@o.( 39edo BsfgMgm Tbmeme Gosbgzo
395L9@0L LoBYLEOm. dop 1.23 )

Answer:l



